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1. If A were a definite female, then Rhiannon would most likely not be interesting in A in the first place. She was already unsure of A when he was in a girl’s body. She could not touch him in the same way because she felt it was “too weird”. A and Rhiannon would never be in love if he were a female in the story.
2. Rhiannon is a complicated female character. With Justin, she behaves very passive. She lets him boss her around and belittle her. However, with A and her friends, she is very outspoken and speaks out for what she believes. She is open with A and expresses herself. However, Justin causes Rhiannon to behave as if she has no voice. 
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